.5.4..&[0-.;-‘.&-"\)[\)'\)-&—&_&”-‘;_;—L-LN_L&QQMN_A_A_A-A_A_A—LN_A_A._L_;_A_A.A-A.A-A.A—A-A

KIT COMPONENTS CHECK LIST

i

Digital printer (do not throw away)
Aluminum sheet, 1/16* x 12" x 18"
Aluminum sheet, 1/8" x 10® x 12°
High Density PE, 1" x 8" x 12"
ABS Sheet, 1/4" x 14" x 18"
Lexan sheet, 1/16* x 12" x 12"
Particle board, 1/2" x 12* x 18"
Plywood, 1/4* x 12* x 12"
Semicurcular black fiber sheet
Hardware mesh, t/4 12" x 18"
Structural foam, 1" x 8 3/4" x 22"
Carpet sample, 12"x12"

Tefion, 1"x1 1/2"x2"

Wood strapping, 1" x 3" x 18"
Wood strapping, 1" x 4" x 18"

2" Floor flange

PVC pipe, 03/4" x 18"

PVC pipe, o1" x 18"

PVC pipe, 02" x 22 *

Aluminum rod, 01/2" x 12"
Aluminum rod, 21/2* x 24"
Thomson 60 Case hardened, o1/4"x24"
Drill rod, 21/4" x 18°

Drill rod, 203/16" x 18"

Brazing rod, o1/16" x 18"

Brazing rod, e1/8* x 18"
Threaded rod 1/4-20 x 24"

Wood dowel, 01/4" x 24°
Fiberglass cloth, 1/16" x 36" x 36"
5 minute epoxy

Panduit terminals, box

Panduit ties

Panduit marker book

Tubing, ©3/16" x 48"

Plastic wire wrap, 21/4" x 30"
Cord, 2 conductor, 5'

Velcro Strip, male/female, 1" x 24"
Steel keystock 4mm x 4mm
Flexible shaft for Delco motor
Molded flexible shaft end

Corner Mate

String, thin, 20°

~ String, medium, 20'

Twine, 20°

Rubber straps

Clear plastic strip, 1/16" x 6" x 24"
PVC sheet, 1/16* x 14" x 22"
Lexan sheet, 3/8"x6"x9*

P N e

S-A.a-mm&

DD ENDNODNND NN - -

~ -~ NN

-_ NN b wdh md b ) =

Rubber strip, 6 x 36"

13" rubber ball (deflated)
6" rubber ball (deflated)
Small Parts inc. Catalog
Tennis ball

Pole clamp

Parts in plastic bag

Nuts, 1/4-20

Nuts, 6-32

Socket head cap screws, 6-32 x t/2°
Cotter pins -
Infiation needle

Washers, 1/4"

Hex wrench, #6

Torx Wrench, T-10
Rubber bands, small
Rubber bands, large
Hinges with clasps
Compression spring
Tension spring

Constant force spring
Button snap assembly
Toggle clamp

Thomson linear bearing, o1/4"

Delco motor

Delco motor connector
ECM motor

Portescap motor, 28P11
Hardware sample bag

Non consumable items
Joystick

Switch box harness
Rubbermaid container

To Be Sent Seperately
battery holder (consumable)
Milwaukee battery charger
Milwaukee rechargeable battery
Power supply

Motorola micro controller —
Wiring hamess

Termiflex keypad controller —
R-Net unit

R-Net antenea

R-Net ribbon cable

............................................. has received all components checked off above.

Signature ;

........................

Check e_ach ttem off and return to U.S. FIRST upon kit receival



